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-

Round -
Robin Tournament

with czc game , per pair
of

teams
.

No draw

i
.

!
e- y

#

Poofters given Q , .az
- - Qu

sit Indi - elk)
→

§
-
only one arc

in D

O e @j
o o

O •

l L
c-[ original G ^



Interpret xijskecisj
as keeping k of cares

from i fo j .

• Exij EC Vij icj

xp ish
') xijeh

• ⑨
Too

. .
.

P i
n

i i - l
o ith j

n

number of win , for team i :

ijtp.IE#pil--EenIii-Eeari-Ci-ik



ijtp.IE#pil--.Ff.nIii-Eoeariti-tk * I

we want this
to be di

so ⇐I says we
want

bxci ) t Ci - he = di
k
✓

8×4) -
- di - Cli

- t ) Vi .




